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A knot diagranﬂ € €1 C2 €7 Ci1 €3 Cg Cp
Ideals for irreducible component#ﬂ)f Xpar

I = (b =% 4~ 1)

* 1 irreducible components of dim¢ = 0, with total 61 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(utt —u ... —u+1)

(i) Arc colorings

w- (1)

ag —
a7 =
ayp =

asz =

wll — 209 + 207 — u?
uld — 3ut + 50 —4u” + 20 —ud +u
u¥? — P04 20+ 1
u34—8u32+-~-+4u6+u2
—uP® 4+ 12053 4 - — 5T — 2u®

—uP® +13uP + - —2u® +u

w?l — 44 + 90t — 120t + 12683 — 106t + 9u® — 6u7 +3u® + u
w?l — 509 + 130! — 200t + 2003 — 130t + T — 4T + 3w —uP 4 u

w?l — 4y 4+ 94T — 120" + 1208 — 106!t + 9u® — 6u” 4+ 3u + u
@10 = \ 42! — 509 + 1307 — 200!® + 2003 — 130t + 70 — 4w + 3u® —ud 4 u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’ — 56u>" + - -+ + 8u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ce T N T |
C2 bt 2900 4 4+ 3u+ 1
€3 ubt 4+ 7ub0 o 44330 4 37
C4,Cs5,Cy w4+ 4 3u+1
cr ubt w0 4 2110 + 61
Cs bt — w4 1lu+ 2
c10 u®t — 13u% + - — 3083u + 283
c11 u®t — 3uf0 4 ... — 89u + 56




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C6 Yo =29y 4 43y — 1

c2 YOSl 47y 4y — 1
3 yot +119%° + ... — 18009y — 1369

C4, €5, C Y8 45550 4. 3y — 1
cr YO — 1350 + ... £ 176159y — 3721
cs Yo 4+ 3y + - 5Ty — 4
c10 YO + 19950 + ... — 760653y — 80089
11 y®l + 15950 + ... — 75183y — 3136




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

1.033100 + 0.1875771

3.27959 — 1.472371

—3.77294 + 0.986841

1.033100 — 0.1875771

3.27959 + 1.472371

—3.77294 — 0.986841

0.621785 + 0.6589991

7.14477 — 7.366891

1.83265 + 6.495411

0.621785 — 0.6589991

7.14477 + 7.366891

1.83265 — 6.495411

= —0.957071 + 0.5455461 0.605205 + 0.5854951 | —3.92457 4 0.1
= —0.957071 — 0.5455461 0.605205 — 0.5854951 | —3.92457 4+ 0.1
= 0.948153 + 0.5748341 6.18322 4 2.559171 0
= 0.948153 — 0.5748341 6.18322 — 2.559171 0

—0.612486 + 0.6311321

1.61526 + 4.051291

—2.39277 — 6.824091

—0.612486 — 0.6311321

1.61526 — 4.051291

—2.39277 + 6.824091

—1.089710 + 0.2688061

—2.65665 + 0.241341

—8.01162 + 0.1

—1.089710 — 0.268806.1

—2.65665 — 0.241341

—8.01162 + 0.1

—0.541944 + 0.6740121

8.48817 — 1.617741

3.86252 + 0.202321

—0.541944 — 0.6740121

8.48817 4 1.617741

3.86252 — 0.202321

= 1.003470 + 0.5459681 1.15617 — 4.090141 0
= 1.003470 — 0.5459681 1.15617 + 4.090141 0
= 1.120400 + 0.2397961 —4.20404 + 3.362871 0
= 1.120400 — 0.2397961 —4.20404 — 3.362871 0
= —1.129610 + 0.2233261 1.12751 — 6.894071 0
= —1.129610 — 0.2233261 1.12751 4 6.894071 0
= —1.112280 + 0.3009361 —2.83860 + 0.057291 0
= —1.112280 — 0.3009361 —2.83860 — 0.057291 0

0.702655 + 0.4631341

2.64368 — 1.934051

—1.89634 + 4.212841

0.702655 — 0.4631341

2.64368 + 1.934051

—1.89634 — 4.212841

0.343323 + 0.7676401

5.74647 +9.59086.1

0.22395 — 6.026361

0.343323 — 0.7676401

5.74647 — 9.590861

0.22395 + 6.026361

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

= —1.010660 + 0.5772131 7.10735 + 6.468911 0
= —1.010660 — 0.5772131 7.10735 — 6.468911 0
= 1.115370 + 0.3426851 —5.28239 — 3.390791 0
= 1.115370 — 0.3426851 —5.28239 + 3.390791 0




Solutions to I

V=1(vol + /=1CS)

Cusp shape

1

IS

= —0.394147 4 0.7306771

7.77499 — 0.618861

2.98419 + 0.410791

u = —0.394147 — 0.7306771 7.77499 + 0.618861 2.98419 — 0.410791
uw= 0.552270 4+ 0.6177691 2.48756 — 0.508811 0.570526 — 0.1855071
u= 0.552270 — 0.6177691 2.48756 4 0.508811 0.570526 + 0.1855071
u = —0.336261 + 0.7517441 0.27382 — 6.061881 —4.21507 + 6.022151
u = —0.336261 — 0.7517441 0.27382 4 6.061881 —4.21507 — 6.022151
u = —1.124710 + 0.3660911 —0.41617 + 6.806031 0

u = —1.124710 — 0.3660911 —0.41617 — 6.806031 0
u=0.345416 + 0.7155231 1.53930 + 2.317441 | —1.192371 — 0.6362221
u= 0.345416 — 0.7155231 1.53930 — 2.317441 | —1.192371 + 0.6362221
u=1.113390 + 0.4857771 0.382880 — 0.8513771 0

uw= 1113390 — 0.4857771 0.382880 + 0.8513771 0

u = —1.112330 + 0.5105891 —4.14943 + 4.184491 0

u = —1.112330 — 0.5105891 —4.14943 — 4.184491 0

u = —1.096940 + 0.5731911 5.71025 + 5.589801 0

u = —1.096940 — 0.5731911 5.71025 — 5.589807 0

uw= 1.118690 + 0.5341121 —1.26791 — 7.555371 0

uw= 1.118690 — 0.5341121 —1.26791 + 7.555371 0

uw= 1.111260 + 0.5575201 —0.69264 — 7.187561 0

uw= 1.111260 — 0.5575201 —0.69264 + 7.187561 0

uw= 0.277033 + 0.6919341 1.13938 + 2.861251 —3.45602 — 3.528511
u= 0.277033 — 0.6919341 1.13938 — 2.861251 —3.45602 + 3.528511
u = —1.122410 4+ 0.5659591 —2.03053 + 11.046601 0

u = —1.122410 — 0.5659591 —2.03053 — 11.046601 0

uw= 1.124890 + 0.5728011 3.4458 — 14.64241 0

uw= 1.124890 — 0.5728011 3.4458 4 14.64241 0

u = —0.210413 + 0.6292621 —1.67346 + 0.239911 —8.17483 — 1.249261

e
|

= —0.210413 — 0.6292621

—1.67346 — 0.239911

—8.17483 + 1.249261

S

0.126206 + 0.6387431

3.06025 — 3.377811

—2.51099 + 2.746921

u =

0.126206 — 0.6387431

3.06025 + 3.377811

—2.51099 — 2.746921




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.612895

—0.928331

—10.6740




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C wbl — 80 1
c2 u®t +29u% + 4 3u+ 1
€3 u®t 4+ Tu + -+ 433u + 37
C4,C5, C9 ut + U0 4 3u+ 1
¢t ubt 44+ — 211w+ 61
8 ubt — w0 1w+ 2
c10 u®t — 13u8 + .- — 3083u + 283
c11 ut — 3uS0 ... — 89u + 56




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, Co o — 20950 .. 43y —1

ca gl Ty 4y 1
c3 yo! +11y%° + .- - — 18009y — 1369

C4,Cs5, Cg Yol 45590 4. 43y —1
7 y® — 13y%0 + ... 4 176159y — 3721
cs Yol 3y 4+ 5Ty — 4
c10 Y 41990 + ... — 760653y — 80089
i y% +15y%° + ... — 75183y — 3136




